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ALLEN

PHYSICS

N
When an electric dipole P is placed in a uniform

— —

electric field E then at what angle between P

N
and E the value of torque will be maximum ?

(A) 90° (B) 0°
(C) 180° (D) 45°

A charged particle of mass m and charge q is
released from rest in an uniform electric field

E . Neglecting the effect of gravity, the kinetic

energy of the charged particle after 't' second is

Egm E2q2t?
(A) 2 ®) -4
t 2m
2E 2¢2 Eq*m
(©) (D) =4
mq 12

Two charges are at a distance d apart. If a

d
copper plate of thickness 5 is placed between

them, the effective force will be,
(A) 2F

(B) F2

(C) 4F

(D) None of these

At a given place on the earth's surface, the
horizontal component of earth's magnetic
field is 3 x 10 T and resultant magnetic
field is 6 x 107 T. The angle of dip at this
place is

(A) 30° (B) 40° (C) 50° (D) 60°

IR [ay(dy sisule P A Gl (agyda
E Miysdl s4lud P A E U Medy
25 @il 2

(A) 90° (B) 0°

(©) 180° (D) 45°

A5 (Aydild 58lef £ m e [AYdeIR q o

Fufid @yd@d4 B ui @lsami wd
CRcalsNRL ol uA wddLQl), dl s8] ¢

UHU K1g dA[dBesl Ad).
Eqm E 2g?t2
(A) —— ®) —
m
2E 2t2 qum
© (D) —

o) [doseilRla A soilenell d vid? dlledd 8 R
Adefl d 60 oot F 43 8. ed 1 g

5180l divilell Wea ausil aA yYsaui #1d
dl WAISRS WL,

(A) 2F
(B) F2
(©) 4F
() IENERVIERET)

yedls{l Aquldl U HUd @A yedlell Yusly
Aell MM (E(d% €es 3 x 107 T e Uil
Jousla x4 6 x 107° T B, 4l (Gig Uz Slula
Hadl.

(A) 30 (B) 40° (C) 50° (D) 60°
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After 280 days, the activity of a radioactive 5. 280 [eddl ugl, sl Alsed °111°1l°1'1
sample is 6000 dps. The activity reduces to A(s52dll 6000 dps 8. oila 140 [edvl ugl
3000 dps after another 140 days. The initial glld Alsedldl 3000 dps Ul B, dl i
acitivity of the sample in dps is AYello{l WIR(AS A (52(cd] dps Hi And).
(A) 6000 (B) 9000 (A) 6000 (B) 9000
(C) 3000 (D) 24000 (C) 3000 (D) 24000
A point charge q is placed at the centre of a 6. As (oigdd ([AYd@R q ol L sllog) "Riddl
cube of side length L The electric flux UL g U HEE . AMeedie] weR
emerging from the cube is ...... Aldd ses.....
(A) 4 (B) zero A = B
= ) (B) Y
6ql> 6ql° q
c) — D c) — D
( ) €o ( ) 6L2€0 ( ) €o ( ) 6L2€0
A charged insulator is bnroght close to an 7. [Aydeiitld Hdlesa [AydeiiR eld Ydlesal
uncharged metal WseH %S dlddl.
(A) There is no electrostatic force between them (A) tial 4 ([ay(dy Woeil 19
(B) There is electrostatic attraction between them (B) Gid d) [E{?:l, GURMENECIR)
(C) There is electrostatic repulsion between them (C) ¢l g [aq[?m YISYRL 1Y
(D) After sometime insulator gets uncharged (D) lsl AHY Klie Hdles M@%d@{lﬁd Ul
and metal gets charged 8 ual Yales [aydeild gy 8.
Which one of the following ratios is always | 8.  2lsd&lHR Hi oflAeil Hiell sAl Yud éNell
less than unity in a transformer ? As (%LGﬂél) 5l A1) & 2
(A) Voltage transformation ratio (A) dIE2es 2l slHRlet (RxUIARL) R0l
(B) Current transformation ratio (B) ydle euidel @lﬂ{\‘ﬂf—f%ld) 3NdR
(C) Power transformation ratio (C) UldR eUid? (2leaslielst) RN
(D) Ratio of turns in the windings. (D) 0 lstl Hi2llefl qulell YRR
Electromagnetic radiation of highest frequency is 9. sl (A s1Y (a5Q0A] Hew uig(d Ha.
(A) infrared radiations (B) visible radiation (A) 8515 [dl5Q1  (B) ¢@uMlel [Al5241
(C) radio waves (D) X-rays (C) USAUL d221l (D) X-(5201
| GUJCET : SAMPLE PAPER-1 - ALL 3001CJM202222049 |
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10. An electromagnetic wave passing through 10. o) (dyd Yuilsy dal eunasiamigl R
vacuum is described by the equation : dd el dl dal A1Lfldls e
E = Ej sin(kx — ot) and E = E;sin(kx — ot) i
B — By sin(kx — of) then B = By sin(kx — ot) d5¢dd 8,dl ...
(A) Eo = Bog (B) Epo = Bok (A) Eg = By (B) Epo = Bok
(C) E()R() = ok (D) E()k = B()(D (C) EORO = ok (D) Eok = B()(D

11. A convex lens of focal length 40 cm is in | 11. 40 cm JegdullSdlol o1&l Qe A 25 cm
contact with a concave lens of focal length 25 Segdulle qlal dodlol Aot AL BISAl il
cm. The power of combination is UY 5 Alogetell ulaR
(A) -1.5D (B) -6.5D (A) -1.5D (B) -6.5D
(C) +6.5D (D) +6.67 D (©) +6.5D (D) +6.67D

12. A wire of resistance 20Q is bent in the form of 12. 200 WdRYS dlRa q(j:(ﬂ[s[?_ dlndl qell
a circle. Then the effective resistance between 1 ™Aid @g,bﬂ dRef]l WAUWSIRS HARY ...
the ends of the diameter is...... YLy,

(A) 5Q (B) 10Q (A) 50 (B) 100
(©) 15Q (D) 20 ©) 150 (D) 200

13. Two metallic spheres of same mass are given 13. ol ydles Aol dHled 0 el HHled dal
equal and opposite charges, then : [cleert [a.%d(‘{l{ glddl el dl
(A) the mass of positively charged sphere increases (A) Yol [Aydeild dNule] eo1 a8
(B) the mass of both remains the same (B) Giale] £01 UHLel &,

(C) the mass of negatively charged sphere increases. (C) b1l [agdeilzld dAlulef eo dd.
(D) the mass of the both spheeres increases. (D) 6ial Au1A\e] £ i,

14. A charge Q is divided into two parts q and Q - 14. [a_gdouz Qo & &Il g Wl Q—qHi ([Aeil)d
q and separated by a distance R. The force of sA R vdR Y5l o) 42 HstH HUISNRL ()
repulsion between them will e maximum when dllg el R
(A) q=Q/4 B) q=Q12 (A) q=Q/4 (B) 9=Q2
(C) q=0Q (D) None of these (©) q=0Q ) IENERVIERET|
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15. A cube of side b has a charge q at each of its 15. b ol gRlddl AHestedl (RRUcige] uR
vertices. The electric field at the centre of the (WRLIAL WR) [Ayd®IR q Y54l 8. dl UHEslsll
cube will be : So¢ UR [Ayd - Had).

q q q q
(A) 2_b2 (B) ? (A) B (B) B
2q 2q
—_ — D
©) ; (D) Zero © % (D) Qe

16.  The elctric potential V is given as a function of 16.  wéEl ([aydRaldHld v A ¥dR (X -l [Qay
distance x (metre) by V = (5x2 +10x — 9) Volt. W) V = (5x2 +10x — 9) Volt d3 ¢21(dg 9,
Value of electric field at x =1 m is dlx=1m3dR [Agyda .....

(A) -20 V/m (B) 6 V/m (A) -20 V/m (B) 6 V/m
(C) 11 V/m (D) -23 V/m (C) 11 V/m (D) -23 V/m
17. The equaivalent capacitance in the circuit 17. o3 c2idd uyiugdi A wa B dR
between A and B will be URELH] Fulesy Aad).
1puF 1puF 1uF 1pF 1 pF 1uF
. Il Il [ . - I I [ N
A 11 ] 1 B A 1 11 11 B
(A) 1 uF (B) 2 uF (A) 1 uF (B) 2 uF
1
(C) 3 uF D) % uF (C) 3 uF (D) 5 uF

18. A 100 V voltmeter of internal resistance 20 kQ 18.  uidils WY 20 kQ wRlddl 100 V
in series with a high resistance R; is connected diey]2Ra G YRUsil WY Ry 412 AR(lHi
to a 110 V line. The voltmeter reads 5V, the @l 110 V dlfel U BISI8L $@ B,
value of r is QAR dieHle: 5vld 8, dl r o Y&

(A) 210 kQ (B) 315kQ (A) 210 kQ (B) 315kQ
(C) 420 kQ (D) 440 kQ (©) 420 kQ (D) 440 kQ
| GUJCET : SAMPLE PAPER-1 - ALL 3001CJM202222049
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19. If in the circuit shown below, the internal 19. o) ell URuUHI, 123lell WidIls 1Y 1.5 Q
resistance of the battery is 1.5 Q and V) and S1A A P Q UR Rel[dH et Vp ol Vo S
V( are the potentials at P and Q respectively, dl P 2 Q a [dyd [ReuldHletell dslad
what is the potential difference between the 2.
points P and Q ? 20 V’,}'E’ Q
20V, 150 =
e 30 P 20
3Q P 20
29 Q 3Q
20 Q@ 3Q
(A) zero (A) st
(B) 4 volts (Vp>Vy) (B) 4 volts (Vp> Vo)
(C) 4 volts (Vo> Vp) (C) 4 volts (VqQ>Vp)
(D) 2.5 volts (Vo> Vp) (D) 2.5 volts (Vo > Vp)
20. Thirteen resistances each of resistance R ohm 20. R wleH <l 13 ARl A <A uHIY BIsIQl

are connected in the circuit as shown in the
figure below. The effective resistance between
A and B is

5WL B dl A wa B 4 Yyl wdrly
nad),

R R
R R
R R R R
A B A B
R R R R
R R R R
2R
A) RQ B) — 2R
(A) ®) 3 Q (A) RQ (B) TQ
4R
_ 4R
©) 3 Q (D) 2R Q ©) TQ (D) 2R O

3001CJM202222049 |
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21. A long copper pipe carries a current. Then the 21, A5 divlell diofl Aoilui [dydudls AR gl
magnetic field is 8 dl ?;'1,0{8’121. a4
(A) zero inside and finite outside (A) iR ol W 6ielR HULELd (finite)
(B) finite inside and zero outside (B) ¥ieR HY[Eld e SR 2l
(C) finite both inside and outside (C) e Wa WeER H(fed
(D) zero both inside and outside (D) ¥{e2 o WEIR Yo
22. Two long straight parallel conductors separated 22. A qinl Hlul A dHidR yAWEL Hdles 4 0.5
by a distance of 0.5 m carry currents of 5 A and m ol ¥d? AWEL 8. duiel 5 A Ha 8 A <)
8 A in the same direction. the force per unit [Aydydls uHlet €louHidl uuR U 8 dl
length experienced by each other is A sl UR s dulld €l dldld ey
(A) 1.6 x 107 N attractive (A) 1.6 x 10_5 N uLsNl
(B) 1.6 x 107 repulsive (B) 1.6 x 107> wuls\]
(C) 1.6 x 10° N attractive (C) 1.6 % 10° N uLs\]
(D) 16 x 10° N repulsive (D) 16 x 10° N U5y
23. For a series LCR circuit the power loss at 23, LCR AR ulugui 2ol dwd Uldell ey
resonance is Had),
Vz V2
(A) ) (A) )
(B) I'Lo (B) Lo
©) 1R (C) 1°R
VZ
V? ~
(D) — D)
Co Co
24. The current i passed in any instrument in | 24. ¢ y GUSWAUL i Fedl wieeAal
altenating current circuit is i = 2 sin ot WAlS i = 2 sin ot ¥ [a%d (3ol (Aulelol)
ampere and potential difference applied is
. . dsldd V = 5 cosot volt &ld dl I
given by V = 5 cosot volt. Power loss in the )
. : GLUSCAIHI UldRell cuY
instrument 1s
(A) zero (B) 10 watt (A) Qe (B) 10 watt
(C) 5 watt (D) 2.5 watt (C) 5 watt (D) 2.5 watt
| GUJCET : SAMPLE PAPER-1 - ALL 3001CJM202222049
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25.  The speed of light in air is 3 x 10° m/s. What | 25. sdidi uslelel Ao 3 x 10% mss. S dl 2.4
will be its speed in diamond whose refractive B2d d(seidelis tRlddl [SuAHiel]l Uslel UAR
index is 2.49 Adl €1y AR dsil 421
(A) 3 x 10% m/s (A) 3 x 108 ms
(B) 332 m/s (B) 332m/s
(C) 1.25 x 10° m/s (C) 1.25 x 103 mys
(D) 7.2 % 10% m/s (D) 7.2 x 103 mys

26. A plano-convex lens of (f = 20 cm) is silvered | 26. 3§ YHAL-6(S&3[N1 Aod (f = 20 cm) ol ¥HAE
at plane surface. Now f will be quLSla iglefl 2a1a 1M 41 d) «idl fo YR
(A) 20 cm (B) 40 cm (A) 20 cm (B) 40 cm
(C) 30 cm (D) 10 cm (C) 30cm (D) 10 cm

27.  In Young's experiment, the ratio of maximum to | 27. o] & (Reeeil UALIAHI, ALSI\Al HSH
minimum intensities of the fringe system is 4 : 1. (Qeldl 249 ot (@dldlei) D\L@.n A2 418
The amplitudes of the coherent sources are in the ) )
atio dl Yrivieg GledAHletl SuldrdiRell -l
(A) 4:1 B) 3:1 (A) 4:1 B) 3:1
©) 2:1 D) 1:1 ©) 2:1 D) 1:1

28. The mean distance of sun from the earth is 28, yedle]] Qj,lfoi 2ol vid2 15 x 108 km (A1)
1.5 x 10° km (nearly). The time taken by the SlA dl yAell usleld yedl u lddl @lald)
light to reach earth from the sun is bYRIE]]
(A) 0.12 min (B) 8.33 min (A) 0.12 min (B) 8.33 min
(C) 12.5 min (D) 6.25 min (C) 12.5 min (D) 6.25 min

29. The decaz constant of a radioactive element is 29. 3G A lEed ueleled) el [Fudis 1.5 x 1 02!
1.5 x 10~ per second. Its mean life in seconds
will be SlU dl defl AsosHl AR WY
(A) 1.5 % 107 (A) 15 10°
(B) 4.62 x 10° (B) 4.62 x 108
(C) 6.67 x 10° (€) 6.67 % 108
(D) 10.35 x 10° (D) 1035 x 103

| GUJCET : SAMPLE PAPER-1 - ALL 3001CJM202222049 |
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30. When arsenic is added as an impurity to | 30. wA(As wUYedlA HldlSlAHT QRAL ulQUH]
silicon, the resulting material is uslel
(A) N-type semiconductor (A) N-UslQlell HHdlss
(B) P-type semiconductor (B) P-Uslledl AH&dLES
(C) N-type conductor (C) N-USRell ydles
(D) None of these (D) WsYyQlel
31.  Consider three concentric shells of metal A, B | 31.  {15[dui e2llcul UHIQ 4IRS divdlell 33l A, B
and C are having radii a, b and c respectively as W C Hl-lzsvﬂd uldl ANaledll [Fariil
shown in figure (a < b < c). Their surface eist a, b Ul ¢ B. Wi (a < b < ¢). dueil
charge densities are o, -c and o respectively. UL UR [dYdeiR eldl Weis o, -o el
Calculate the electric potential on the surface o Sl dl A «fl Auidl [Eli:l,dﬁelfal-lld_
of shell A.
° b S (a—b+o)
(W) o (@ —b+0) ) o
2 b ° (a—b—c)
(B) &~ (@—b—¢) B) o
(¢)
(©) Si (a®> + b + ¢?) © & (@® + b + ¢?)
0
(&)
(D)si(aer—c) (D) 5 @+b -0
0
32. 2 32. B? .
The dimensional formula of — is..... — 9 ulRuL(CLs A ... 2
2po 2p0
(A) MTL'T? A) mILT?
B) M'L7'T2 ®) M2
©) M'L'T? ©) ML 12
(D) M'L'T2 D) miL!T?
| GUJCET : SAMPLE PAPER-1 - ALL 3001CJM202222049
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33. Magnetic Flux linked with a coil is 33, Jual HIA BsAG Ywsly  sasA
_ gq2 T . .
¢ = 5t + 2t + 3, where t is in second b = 5 + 2t + 3, %l t D5eS WA ¢ AWM
and ¢ is in weber. At time t = 1 sec., the value .
, ¢ _ Slddlt=1A550el g emf ... volt HO.
of induced emfis ......... volt.
(A) 14 (B) 1.2 (A) 14 (B) 1.2
(C) 12 (D) 6 ©) 12 (D) 6

34. A coil has self inductance L = 0.04 H and 34, Jy0lle] WIHUSAA L = 0.04 H ol wdY
resistance R = 12 Ohm. When it is connected to R = 12 Ohm &l 2RUIR dal 220 V ¥{a 50 Hz
220 V, 50 Hz supply; what will be the current AW YA RISl oj\qum.['[g[‘[ Uy odl
flowing through the coil ? [agdudle
(A) ILTA (B) 12.7A (A) 11.7A (B) 12.7A
(C) 10.7 A (D) 147 A (©) 10.7A (D) 14.7A

35. A square of side Lm lies in the x-y plane in a 35. L m duloel As AR dsdla x-y dHdEH]
region, where the magnetic field is given by Ysa M w1d4 8 Ui 2;]:,0{8'11[@’4
B = By (2i +3j +412) T, where B, is B = By (2i +3j +41§> T, d5 WU 8. B
constant. The magnitude of flux passing wWYais O dl dsdl WA Asag
through the square is...... Wb. §E5Y..... Wb &el.

2 2
(A) 2ByL (A) 2ByL
(B) 3B,L> (B) 3B(L’
(C) 4B,L? (C) 4B(L?
(D) /29B,L? (D) v29B,L?

36. The ratio of areas of the electron orbits for the 36.  s1999\osel URHIG, HI2 JaH GAR)d sélld
first excited state and the ground state for the Q501 24 421 F (oAl A5 S
Hydrogen atom is

C : D :
©) 8:1 D) 2:1 ©) 8:1 D) 2:1
| GUJCET : SAMPLE PAPER-1 - ALL 3001CJM202222049 |
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37.  If the radii of nuclei of Al ; and “Znygare R, | 37.  27Aly3 249 4zngq ofl Gomilnd) iofsh Ry 249
) R, R
dR tively, then — = Ryé&lddl —L —
and R, respectively, then R, 2 R,
27 27
A) — -
(A) 64 (A) 64
64 64
B) — —_
(B) 77 (B) 27
4 4
(©) 3 ©) 3
3 .
(D) T )
38. Name the gate, which represents the Boolean 38. y=A-B-ll oi[@[uoi AHLSWL HI AU e
expressiony = A - B. s D
(A) NAND (A) NAND
(B) AND (B) AND
(C) NOT (C) NOT
(D) NOR (D) NOR
39. Electrically, an isolated P-type semi conductor 39.  [aydeil Ald, A5 P-UsRe wHdlss
is
(A) neutral (A) del
(B) positively charged (B) det ([Agydei1Rld
(C) none of the given (C) wIUd ofef]
(D) negatively charged (D) b8l [agdeiRld
40. A charged ball hangs from a silk thread, which | 40. A5 ([Agd@I3]d &Sl [esol €13] a4 Ad] 3d
makes an angle 6 with a large charged gesldd 8 ¥ ¥l wWs HIEl ([AydeRld 2ile
conducting sheet. The surface charge density ULE 0 519 6ietld dl [ABd™IR YB Heidlo ...
o of the sheet is proportional to...... ol AHUHIRIMI el
(A) tan 0 (B) sin 6 (A) tan 0 (B) sin®
(C) cos b (D) cot 6 (©) cos 0 (D) cot
| GUJCET : SAMPLE PAPER-1 - ALL 3001CJM202222049
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Topic : CHEMISTRY

CHEMISTRY

The reduction of peroxydisulphate ion by I ion
is expressed by

S,0% +31 —280% +1;
If rate of disappearance of I is 9/2 X 10~ mol
lit"' S™', what is the rate of formation of SO2~

during same time

(A) 10°mol L' §7!

B) 2x10°mol L' s

(C) 3x10°mol L' 87"

(D) 4% 107 mol L' S~
Radioactive decay follows

(A) Zero order kinetics

(B) Second order kinetics

(C) First order kinetics

(D) Pseudo first order kinetics

The half-life period for a reaction at initial
concentrations of 0.5 and 1.0 moles litre”! are 200 sec

and 100 sec respectively. The order of the reaction is
(A) O B) 1
© 2 (D) 3

Which of the following is correct for a solution

showing positive deviations from Raoult’s law
(A) AV=+ve, AH=+ve

(B) AV =—-ve, AH=-ve

(C) AV=+ve, AH=-ve

(D) AV =—ve, AH=+ve

URA(SASIUAEE W [Ysto} R85l I W IUet 9
8,05 +31~ —2S0; +15

U5 Yosod A B, A\ T <l [delest YiHd el
€292 x 107 Wla (@23 ! Ases! &l dl deal
o UHAM] SO2~ il [AH[Qell €2 Bedl 2l 2

(A) 1072 1e (@2 ! Ases!

(B) 2x 107 Hld (23! Ases]

(©) 3x 107 Mld (@2 ! Ases]

(D) 4x 1074l (@2 ! Ases!

AUsAA(5U (At ........... ol Mol UR B.

(A) Qe sHoil AU[ds]

(B) (gdla sueil aldsl

(C) vy sl au(dsl

(D) wWleA] vy syl alds)

W s s 2Aexvdldefl Aigdl 0.5 A1 1.0 Hld
(@21 1R ] wiyrd HHY Besh 200 Ases
W 100 ASeS 1A dl Ul5UL 5Y

(A) 0 (B) 1
©) 2 (D) 3

Bl ¢laidl AGEe1L [HUHH] tel [dudel £21(d d)
o1 US| s [Asey AR B 2

(A) AV=+ve, AH=+ve
(B) AV=—ve, AH=-ve
(C) AV =+ve, AH = —ve

(D) AV=—ve, AH=+ve
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ALLEN
5.

The density of 3 M solution of Na,S,05 is 1.58

g/ml. Calculate mole fraction of Na,S,0; :

(A) 0.96 (B) 0.045

(C) 0.74 (D) 0.25

Given  that E}?eH/Fc =—-0.36V and
ERor Fe = —0.439V respectively. Therefore
value of ER ;. JRert is :

(A) (-0.36-0.439) V
(B) (~0.36 +0.439) V
(C) [2(= 0.36) + 3(~0.439)] V

(D) [3(=0.36) + 2 (~0.439)] V

The standard reduction potentials at 298 K for
the following half-reactions are given against

each.

Zn*'(aq) +2¢  — Zn (s) ; — 0.762
Cr3+(aq) +3¢ —Cr(s);-0.74V

2H +2e —H,(g);£0.0V
Fe** (aq)+e — Fe** (aq); +0.77V
Which is the strongest oxidising agent ?

(A) Zn (s)

(©) Ha (9)

(B) Cr(s)

(D) Fe’* (aq)

In a CCP lattice of X and Y, X atoms are
present at the corners while Y atoms are at face
centres. Then the formula of the compound
would be if one of the X atoms from a corner is

replaced by Z atoms (also monovalent) ?

3 M Nap$r03 ¢ldRlefl deidl 1.58 AL/
&1 dl NayS,03 otl Hld - 22l AW,

(A) 0.96 (B) 0.045

(©) 0.74 (D) 0.25

] Elp. p = 036V s
Epope = —0439V €L dLER,. (o
HR .

(A) (-0.36-0.439) V
(B) (-0.36+0.439) V
(©) [2(-0.36) +3(-0.439)] V

(D) [3(-0.36) +2(-0.439)] V

298 K dlutla wd-ulsaudl Hizell uMLlEld
Rss2let W2e21ud «f1A Yosod Sld dl el
U0 W) (54320t Sdl 54 622

702t (aQ)+2¢ — Zn (s) ;- 0.762

crtaq +3e — Cr(s);—0.74V

2H' +2¢ S Hy(g);£0.0V

Feot (a+e — Fe2 (aq): +0.77V

(A) Zn (s)

(€) Hj ()

(B) Cr(s)

(D) Fe3Jr (aq)

X W Y &l (aldl W5 CCP Q2LIUH X UKL
VRILUR ol Y UM, 65 Begii dledldd 8.
Bl 516 WS WRIL URell X URHIQA Z UMY
MletliA)lws) A5 Meddidi w1d dl HUloeld]
WRIYA QLY.

(A) X7Y94Z, (B) X7Yp4Z (A) X7Y24Z (B) X7Y24Z
| GUJCET : SAMPLE PAPER-1 - ALL 3001CJM202222049
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ALLEN

9.  Which of the following are the correct axial | 9.  22L0eld WLl U2 wefld d2 e wely
distance and axial angles for tetragonal system ? $1Qlell 419y Y& tR1ddl [asey :
(A) a=b=c,a=p=vy# 90° (A) a=b=c,a=B=7# 90°
(B) a=b# c,a=p=7y=90° (B) a=b# c,a=p=7=90°
(C) a# b# c,a=p=y=90° (C) a£ b# c,a=p=y=90°
(D) a# b# c,a? BE y# 90° (D) a# b# c,a# B# y# 90°
10. Which equation represents Freundlich | 10. <13 Usl sy WlsQ  gosdly  yudl
adsorption isotherm (physical adsorption is [HoNKl c2lld 8 2 (@{al[(‘ifs (NG A
basis of this theory)? Riggidal wW1bIRd B.)
X .
(A) % = K (P)"" where x is amount of gas (A) T K (P)! Mo x A P Lol m’ e W
adsorbed on mass ‘m’ at pressure P AEENNERIMCRCTUER tI1 1§20
X L B) log — =log K+ — log P
(B) logHZIOgK+ElogP (B) log — =log o o8
X X c) X _ 3 X _xa
(©) ol KP at low pressure and P K at © m KP (Il el 24 m K Gl
b
high pressure g1l
. .
(D) All of these (D) AHUE Wi
11. Most effective ion to coagulate a negatively 11, b dlaelRd sldde e sdl el ay
charged sol is WAUSRS Bl
(A) PO}~ (B) AI** (A) PO} (B) APT
(C) Ba?' (D) K' (C) Ba?" (D) K
12. Name the following reaction 12. 1A 204 Ulsdle] ol A1) :
CH;CH,Cl + Nal __ acetone . CH3CH,I + CH3CHyCl + Nal __*R21 o CH3CHyI +
NaCl NaCl
(A) Swartz reaction (A) Q—q[e‘;y) ulsAl
(B) Finkel-stein reaction (B) (5o5¢ - 61 U5l
(C) Wurtz reaction © ﬂ?:.)’) e
(D) Hell-Volhard Zelinsky reaction (D) &4 - dleslS H[Eas] ulsul

| GUJCET : SAMPLE PAPER-1 - ALL
E +H /25012023
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13.

14.

15.

16.

17.

18.

ALLEN

Which of the following acid does not have —

COOH group ?
(A) Ethanoic acid (B) Picric acid
(C) Benzoic acid (D) Salicylic acid

Which of the

paramagnetic ?

following complex is

(A) [Ni(CO)4] (B) [Co(NH3)]*"

(C) [Ni (CN),* (D) [NiCl,]*

Both [Ni (CO);] and [Ni(CN),> are
diamagnetic. The types of hybridisation of Ni
in these complexes are &
respectively.

(A) sp’, sp’ (B) sp’, dsp”

(C) dsp?, sp’ (D) dsp’, dsp’

Which of the following is not formed by

Sandmayer reaction ?
(A) C¢H5Cl (B) Cg¢Hsl
(C) C¢HsBr (D) CcHsCN

What happens when sucrose is reacted with

dilute H2804 ?
(A) dehydration (B) reduction
(C) oxidation (D) hydrolysis

In which of the following compound, all the

monosaccharide units are not joined by C; -0 —-Cy
chain.

(A) Maltose
(B) Lactose
(C) Cellulose

(D) Amylopectin

13.

14.

15.

16.

17.

18.

{13 S\ UL WRYHI ~COOH UYs Eld) «1&il 2

(A) 5185 ARS  (B) [Ulss ARLS
(C) AedlSsA[S (D) Alddls 1S
o2 US| s AL Wi sl S1U § 2

(A) [Ni (CO)4] (B) [Co(NH3)g]>"

(©) [Ni(CN) > (D) [NiCly>

[Ni (CO)4] 42 [Ni(CN)4]>~ vil uldjosly 8.

ol 241 AS1QHI Ni Hi 5L wegsD ula)
ey 8.
(A) sp3, sp3 (B) sp3, dsp2

© dspz, sp3 (D) dspz, dsp2

1A Usl Al W AoSHA UlsAL 95 Weld)

oef] 2
(A) CgH5CI (B) CgHsI
(€) CgH5Br (D) CgH5CN

Yslell He HySO4 UL=(] ulsulell 9f &l 2

(A) [Auilsal (B) RSs2lel

(C) L5452l (D) ¥ [aeilet

1A WSl sul WYHI oy HlNAZASS B sH)
C1—0—Cy YUdl S BLsIA «1]] 2

(A) Hl2l»

(B) 452l

(C) ARYEL»

(D) AH (5201

| GUJCET : SAMPLE PAPER-1 - ALL
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19. What is the correct order of reactivity of the 19.  WAlE@dell ulsumi wlesidd  SdleSedl
alkyl halide in the ammonolysis with amine ? WH 8 Y1) UldlSULHSA o) ML) $H S 8 2
(A) R-I>R-Br>R-Cl (A) R—1>R-Br>R-Cl
(B) R-CI>R-Br>R-1I (B) R-CI>R-Br>R-1I
(C) R_-Br>R_I>R-_Cl (C) R-Br>R-I>R-Cl
D) R-I>R-CI>R-B
(D) R-1>R-Cl>R-Br ®) '
20. CH,COOH—biHs ,y _ ol .y ko 2. oy cooH Ly _mL —>“If§§‘i z
what is final product z ? .
2i[dH (AU 2 59 B 2
(A) Acetaldehyde (A) Aelleselss
(B) Acetelene (B) A2(da
(C) Ethelene (©) ®lalds
(D) Acetyl chloride (D) W[21od s€lR18S
21. On which factors, the stability of an oxidation 21. QoS drclloll M [5ASUA w22l lel] (Reldl
state in Lanthanide elements depends? Sl qﬁ_o{(fl U b{lt‘llﬁ.d SlA 9
(A) Internal energy (A) UidRs Glosl
(B) Enthalpy (B) ool lad]
(C) Electronic configuration ©) 56'15@-1"1 el
(D) Combined effect of hydration energy and (D) °b.’C-[‘[U_5?_Q[ Bl uel 2ldedlsral Gl
ionization energy UYSA AR
22. The formation of Cyanohydrin from Acetone | 22. W(U2loHiell UlUAlsIOSldell Woilde sul
which type of reaction? usi2ell ulEal 8 2
(A) Electrophilic addition reaction (A) SSQSQ]O{ b{ui?_Pﬂ Alareilg ulsul
(B) Electrophilic substitution reaction (B) 6a521el wefA(] [cedlust Ulsl
(C) Nucleophilic substitution reaction (C) SoglefRUl (cRerluet ulsul
(D) Nucleophilic addition reaction (D) }"Cﬂl"iuan dlateile wlsul
23.  Whatisthe end product in the following series of reaction. | 23, +{12 W8] W51 AMi HO] 2i(ciM oflues 231 1d).
CH,COOH —":+5 A, B "o CH,COOH i, A _Heat g PO
(A) CH, (B) CH,OH (A) CHy (B) CH30H
(C) CH;CN (D) CH;COONH, (C) CH3CN (D) CH3COONHy4
| GUJCET : SAMPLE PAPER-1 - ALL 3001CJM202222049 |
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25.

26.

217.

ALLEN

Which of the following oxoacids results into
two series of salts?

(A) H;3PO, (B) H3PO;3

(C) H3POy4 (D) H4P204

What will obtain by reaction (trans)2-butene +

Br,?

CH,
Br
(A)
H— |
CH,
CH,
H—
©
Br
CH,
In the given

Br

Br

(B)

(D)

reaction

CH,
H Br
H Br
CH,
CH,
Br H
H——+ Br
CH,
CH;-C = N

(i) CH;MgBr (excess) [X]: [X] will be

(i) H,O/H"

CH;—C—CH;

(A) CH;CHO (B) I

0

CH

’ 0

© cHy-CccH, O |
| CH+~C—NH,

OH
The ether CqH;OCH,CcHs on heating with

concentrated HI produces

(A) C¢Hjl and CHsCH,OH
(B) C¢Hsl and CHsCH,I
(C) C¢H;OH and C4HCH,I

(D) C¢H,OH and CH,CH,OH

24.

25.

26.

217.

{13 wW0E LsHRARS US| sA) 2NsHRARS

A et1ef] A0 wWeild & 2
(A) H3PO, (B) H3PO3
©) H3POy4 (D) HyP>O7

(2let) 2-63Y(2e1 + Brp Wlsdl 45 HAd] «{lu
f3lLd).

CH, CH,
Br Br H—— Br
(A) (B)
H—r H H— Br
CH, CH,
CH, CH,
H— Br Br H
© (D)
Br H H— Br
CH, CH,
w0e UlsAIMi [x] QL.
- (i) CH3MgBr (ag)
CH3-C= N —»(ﬂ) H,0/H" [X]
CH;—C—CH;
(A) CH3CHO (B) I
0
CH
’ 0
(©) CH;C—CH; (D) |
| CH3>—C-NH,

OH
CgH50CH,CgHs 8224 Uig HI U8 ARH Sl
Hodl «fluy sauldl.

(A) CgHsl ¥l CgH5CHyOH
(B) CgHsl ¥al CgH5CH)I
(C) CgHs50H A CgH5CHAI

(D) CgH50H A CgH5CHOH

| GUJCET : SAMPLE PAPER-1 - ALL
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28.  Which is true for structure (i) and (ii) ? 28, GIYIRQL (1) Wl (i) HI U Y B ?
CH,OH CH,OH CH,OH CH,OH
H O H H O _OH H O H H O OH
H H H H
OH H OH H OH H OH H
HO OH HO H HO OH HO H
H OH H OH H OH H OH
(i) (i) (i) (i)
(A) (i) is B-D-(+) glucose and (i) is a-D-(+) (A) (i) b-D-(+) 94512 el (ii) a-D-(+) 2451
glucose. 8.
(B) They are anomers of glucose (B) 2g513ell W11 B.
(C) They are enantiomers of glucose (©) 2g5125eil Uld(ciofl2 8.
(D) It is a mixture of D and L glucose (D) D %4el L 2g5lsef (HHQL .
29.  Refining of nickel is done by 29.  [siscle] Qe s euladl uen(d :
(A) Mond carbonyl process (A) Hles slofl(std ulsal
(B) Van Arkel method (B) dlel i15e yed[d
(C) Victor Mayor process (©) [ase: AUR 512l
(D) None of these (D) A5 Ul el
30. Cryolite (NajAlFg) and CaF, is added in | 30. WM[Auuell [xsygl Y2 sRildlge
Electrolytic cell for extraction of aluminium as (Na3AlFg) s CaFp a [a.%d ([Qeilt sINHI
GHRdls] 5128
(A) to increases the conductivity (A) dleSdlHl dulR) sdl
(B) to decrease the melting point (B) a4+ @'gui el21sl 5di
(C) to act as flux (©) sa5 dil3 sid 52
(D) All of the above (D) g Wy %
| GUJCET : SAMPLE PAPER-1 - ALL 3001CJM202222049 |
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31.

32.

33.

34.

35.

ALLEN
31.

What is obtained on oxidation of 2°degree

alcohol with chromic acid ?
(A) Aldehyde

(B) Carboxylic acid

(C) Ketone

(D) Ester

Calculate the cell potential of the following
concentration cell :

Pt | Cl, (0.4 bar) |[CI" (0.1 M) || CI" (0.01M) ||
Cl, (0.2 bar) | Pt

(A) 0.051 V
(B) —0.051V
(C) 0.102V

(D) 0.0255 V

Distance between tetrahedral and octahedral
void in the fcc lattice will be: (Given edge

length of unit cell = a)

4
C i (D) \/§a
© y3l :

In K4[Fe(CN)4] the E.AN. of Fe is

(A)33  (B)35 (C)36 (D)26

Which one of the following will give a white

precipitate with AgNOj3 in aqueous medium.
(A) [Co(NH;)5Cl] (NO,),

(B) [Pt(NH;),Cl,]
(C) [Pt(en)Cl,]

(D) [Pt(NH;),]Cl,

32.

33.

34.

35.

[¢cdlus  wesleldds]  sls  A[S  dS
U153t 5l HAd oflues

(A) ulleselds

B) sluil(sulas ARLS
©) (52l

(D) AR

of|Astl Uigdl SNl SIN U2 (2124 131
Pt| Cly (0.4 bar) |CI” (0.1 M) || CI” (0.01M) || Cl»
(0.2 bar) | Pt

(A) 0.051V
(B) —0.051V
(C) 0.102V
(D) 0.0255V

fec ¥[Rs QalgUUl ugdsely (¢ wa
eS|y (¢ dWe] wid2 wQdl. (AsH
SINefl Y1Re{l LS a)

&) —*/ja (B) V3a
© 32 (D) V3a
2 3

K4[Fe(CN)g] Hi Fe «ll E.A.N. %QlLd).

(A) 33 (B) 35 ©) 36 (D) 26
w0d Vsl sl Al560 wdly HiMUi AgNO;
U8 Ude AU A ULl ?

(A) [Co(NH3)5C1] (NO2))
(B) [Pt(NH3)2Cl2]
(©) [P(en)Cl7]

(D) [Pt(NH3)4]Clp

| GUJCET : SAMPLE PAPER-1 - ALL
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36.

37.

38.

ALLEN
36.

Name of the given Reaction :

E>C:o—iﬂ”~’—> E>C<i+N2+H3

KOH/glycol

(A) Wolff-Kishner reaction

(B) Aldol reaction

(C) Clemenson's reduction

(D) Gattermann koch reaction

Which of the following oxides is Amphoteric ?
(A) ALLO3 (B) Na,O
(C) B,0; (D) CO,

In a set of reactions acetic acid yields a product
[D]. The structure of [D] would be

CH.COOH 9% ,14] €, [B]
: Anhy.AlCl 5
-~ HOH
CHN o /225 D)
OH

|
(A) CdﬁCHrE}CHg

CN

(|3N

®) CﬁHj—(f—CHﬁ
OH

C|)H
(© C&Hj—(f—CDDH

CH,
?DDH

w)Cm5CHr?CH3
OH

37.

38.

E>C: O, E>C<i+N3 +H,
WG U5 Lo ol 11 QlLd).

(A) 465 - slalez ulsul

(B) 16514 U5yl

(C) sAHeAYe RS8R0

(D) LMl 51 (sl

of12 Us) 5] WI5ALSS Cletuay] 1y B 2

(A) Al,O3 (B) NayO
(C) ByO3 (D) CO,

WG Ulsul ARH| W (A2ls W[sHiel weidl
o{lu% [D] o citl1R8l Ll

CH.COOH %99 ,[A] Cefls 4 [B]
: Anhy . AICI3

HCN [C] HOH D]

OH

|
() cdﬁCHrﬁ}CHg

CN

(|3N

(B) CgHj—(|3—CH3
OH

OH

|
@)Cdﬁ4ﬁCDDH

CH;
?DDH
(D) CgHs—CH,—C—CH;

|
OH
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ALLEN
39, For CH;Br + OH — CH,OH + Br the rate of | 3%  CH3Br + OH — CH30H + Br HI2, U(5u1 A2

reaction is given by the expression w (¢ (5 etldd) (asey :
(A) rate = k [CH;Br] (A) A2l =k [CH3Br]
(B) rate =k [OH ] (B) A2 =k [OH ]
(C) rate =k [CH;Br] [OH ] (C) A3l =k [CH3Br] [OH ]
(D) rate = k [CH;Br]° [OH T (D) A2l =k [CH3Br]° [oH 1°
40. In given reaction A, B and C are - 40. _ H.O*
: : <:>=0 + CHMgBr —HO" , A
. H,O*
<:>=O HCHMgHr ——4 Conc. H,yS0 0;/H0/2Zn
3 o - OT1C. 2+ 4 % B q f Pl N 3 (-.
Conc. Hy50,4 >B 0; /H,0/Zn  C UlsA ML A, B ua C %QlLd).
HO~_-CHj CH, CH; HO~__-CH; CH, CH
A o8 =N
RN ij :B=©:C=@HO ) A= ij :B=©:C=@HO
HO CH; CH, O HO CHs CH, O
B) A= Cj :B=©:C=©.HCHO (B) aA-= Cj B=©;C=©.HCHO
HO-_-CH;s CH, CH, HO._-CH; CH, CH;
© A= ij ; B=©:C=CCHO ©) A= @ : B=©;C=CCHO
CHO CHO

HO~_-CH; CH, CH; HO~_-CH;
D) A= -. B=©;C=@oon (D) A= ij -. B=©:C= “Coon

| GUJCET : SAMPLE PAPER-1 - ALL 3001CJM202222049
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MATHEMATICS

If g(x) is even function and h(x) is odd function
and f(x) = 2 + 3x> - 2x° + 5x* = g(x) + h(x)
then h(2)=.........

(A) 2 (B) -16
© -2 (D) 16
f:R->R,f(x)=(x—2)(x—3)(x—4) is
(A) one-one and onto

(B) one-one but not onto

(C) onto but not one-one

(D) neither one-one nor onto

f:R—-R,f(x) =x>+3 and
g:R - R, f(g(x)) =3 +x*—2x> +x* then

(A) 12 (B) 20

(©) 30 (D) 42

sin~! ( sin o +cos ! | cos o
6 3
1 ( 7n) .
“+tan tan T 1S

(A) 1~ ®) X

© = o X

The value of
(cos(sin~'x))? — (sin(cos™'x))? =....,0 < x < 1
(A) 1 (B) -1

©) 2 (D) 0

%\ g(x) YoM (ddY Sl el h(x) 2YH [d8Y
QI dell f(x) = 2 + 3x% — 2x° + 5x7 = g(x) + h(x)
Al h@Q@)=.........

(A) 2 B) -16

<€) 2 (D) 16
f:R—R,f(x) = (x —2)(x - 3)(x —4) A
(A) A5-0s WA YIH D,

(B) As-us B, U 12l

(C) As-As a8l AU .

(D) Ws-us olefl, Ul 2],

f:R - R,f(x) =x*+3 A
g:R - R, f(g(x)) =3 +x* —2x> +x*,

(A) 12 (B) 20

©) 30 (D) 42

11n 5t
(A) —— B) &
C 2 D 5w
©) 3 (D) 3
(cos(sin'x))? — (sin(cos 'x))? =....,0 <x < 1
(A) 1 (B) -1
) 2 D) o
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10.

The value of sin ! (sin4) is.....

(A) 4 (B) 4-2n

(C) n-4

If [= Lo J= 01 and
0O 1 —1 0
cos® sinB
B= ,thenB=.......
—sin 0

cosB
(A) IcosB+Jsin@

(D) does not exist

(B) Isin®+Jcos6
(C) Icos®O—1Jsinb
(D) —IcosO+Jsinb

A and B are two matrices with order 3 x 3 and
|A| =—1, |B| = 3 then the value of |3AB| = .......

(A) -9 (B) -81
(C) =27 (D) 81
f(x) = [sinxX]is ..covnene atx = %

(A) continuous
(B) discontinuous
(C) not defined
(D) None of these

f(x) = 2% 4 2XF1 4 2%F2 4 427 then

£f'2) =...

(A) 1023log.2
(B) 2xlog2

(C) 1023 log.16

(D) None of these

10.

sin ! (sin4) il (54d ..... 8.

(A) 4

©) n-4

) l{l O}J{O 1} i
0 1 1 0

B = cos® s ey, dlB=...
—sin®

cosB
(A) TcosB+1Tsin0

(B) 4-2n

(D) W[ddd «1¢]]

B) 1sin®+7TcosH
(C) IcosO—-Tsin0
(D) —TcosH+Jsinb

AW B 3 x 3 sellell AR5 B el |A] = -1,
IB|=3 dl BAB|=.......

(A) -9
©) 27

f(x) = [sinx] W x = g AP ... B,

(A) Udd

(B) ¥{¥dd

(C) cUluALd «iefl

IDENEVERT

f(x) =2 + 2" + 2274+ dl f(2) =
(A) 1023loge2

(B) 2xlog2

(C) 1023 loge16

(D) A5 ULl o4&l
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11.

12.

13.

14.

15.

ALLEN
11.

sin4dx
f(x)=1 ox is continuous at x =
K .x=0
Othenk=......
3 3
A) —Z B) =
(A) 5 (B) 5
2 4
C) == D) —
© 3 (D) 5
/3"“. e tldx =........ +c
3x+1 eSx-H 3x+1 e3x+]
(A) ——— - -
3+ log.3 log,. 3
3x+le3x+1
<) ——— (D) None of these
3 —log.3
1 +x+4/x+x2 q N
X=.irrnn.. c
VX +/T+x
1 S
(A) 5\/I+x (B) vT+x

(©) %(l—kx)% D) 2(1 4 x)7

P(A)=0.1,P(B) =0.2 and
P(AUB) =025, thenP (A'/B)=.....
1 1
(A) 3 (B) e
15 3
© 1= D) =

A box contains 100 balls out of which r balls
(0 <r < 100) are red and remaining balls are
black. Two balls are selected at random

without replacement. If the probability that

both balls are red is % Find the value ofr.

(A) 33 (B) 18

(C) 17 (D) 35

12.

13.

14.

15.

sin4x 40
f(x)=4 ox 7oA x = 0 U
k> . x=0
Add 8, dlk=....
A 3 B 3
(A) =3 (B) 3
C :I:2 D 4
©) 3 (D) 9
/SXH. e ldx =........ +c
3x+l e3x+1 3x+l e?:x+l
(A) 3 + log.3 (B) log,3
3x+le3x+1
[ b}
©) 3703 (D) A5 ULl el
I +x+4/x+x2
/ dx =........ +c
VX +/T+X
1
(A) 5\/1+x (B) vT+¥x
2 3 3
© F(1+x)> (D) 2(1 4+x)>

P(A) = 0.1,P(B) =02 ¥4 P(AUB)=0.25
SR, dAlP(A'/B)=....

1 1
(A) 5 (B) I
15 3
©) I (D) I

A5 UIHI 241Q6l 100 £SLUSL r €51 (0 < r < 100)
4ld el islel slal 8. A &Sl Ydell daR
YleRe9s d Ue s w1d B, B ola &5l
14 Uie 1Y defl eqldsil % S1, dl r 2.

(A) 33

©) 17

(B) 18

(D) 35
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ALLEN

16. If A and B are two independent events such 16. o0 Aua B (208 "eell & 3 el p (A) = %’
1 1
that P(A) = =, P(B) == th 1
N () =3 (B) =5 . P(B) = £ 4L ALP(AJAUB) =
P(AJAUB) = ....
1 1 1 1
A) — B) — — —
() < ®) A ®) ;
1 5 1 5
— D) = — -
© 75 (D) = © 15 D) %
17. Minimum value of z = 200x + 500y subject to 17 x+2y>10,3x +4y<24,x>0,y>0 o A Lefle
X+2y>10,3x+4y<24,x>0,y>0 z=200x + 500y =il Yeici ($Ud .......... 2}
(A) 2000 (B) 2300 (A) 2000 (B) 2300
(C) 2600 (D) 2500 (€) 2600 (D) 2500
18. l+ax 1l+bx l+cx 18. l+ax 1+bx l+cx
l+a,x 1+b,x 14+c5x l+a,x 1+byx 1+c5x
then Ag=......... dl AQ= e
(A) abc (B) 0 (A) abe B) 0
©) 1 (D) None of these ©) 1 (D) W5yl «isl
19. If x = -9 is a root of the equation formed by 19. x 3 7
x 3 7 A x=-9u0 AR 2 x 2|=0 o wilw
determinant (2 x 2|=(), then the other two 7 6 x
7 6 x Sl dl wlislell o ofleyl ........ 2]
roots are........
A)3,7 B 2,7 (©)36 (D)26 (A) 3,7 (B) 2,7 (C) 3,6 (D)2,6
20. Area of a triangle having vertices (3, 2), (8, 20. %l @lamgb{] (3, 2), (8, 12), (11, 8) &ly ddl
12), (11, 8) is ..... (sq. units) [3As18le &5 ........ 2}
A)s0  B)25 (©) 74 (D) 37 (A)s0 (B)25 ()74 (D) 37
21. If.. then f(x) = x> — kx + 20 is strictly 21, o) ... dl f(x) = x2 —kx+20 N [0, 3] UR Yol
increasing on [0, 3] qdq ([day ely.
(A) k<0 (B) 0<k<1 (A) k<0 (B) 0<k<1
(C) 1<k<2 (D) 2<k<3 ©) 1<k<2 (D) 2<k<3
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ALLEN

1 ] . . .
2 )= 22X s an increasing function in..... 22 gy = 22X ) didruasi dud @Ay .
X X
interval
(A) (1,2¢) (B) (0,¢) (A) (1, 2e) (B) (0, ¢)
1 1
(©) (2, 2e) (D) <E’ 2e> (©) (2,2e) (D) ( E,Ze)
23. Ifx +2y =38, then maximum value of Xy is 23, Alx+2y=8dlxyeilHsdH (BUd ........ 8.
(A) 20 (B) 16 (A) 20 (B) 16
(C) 24 (D) 8 ©) 24 (D) 8
24. / esme(log sin 0 + cosecze) cosBdB =........... +c 24. /eSine(log sin + cosecze) cos0d0 =...........
A) asin0 . 2 4
(A) 5"V (log sin 6 + cosec” 6) (A) esme(log sin 0 —|—cosec26)
(B) ¥ (log sin 0 + cosec) (B) eSi”e(log sin 6 + cosect)
(C) esin® (log sin 6 — cosech) (©) eSi“e(log sin 6 — cosect)
(D) ¢sin®(1og sin @ — cosecze) (D) e (log sin 6 — cosec’6)
d
By di f(x) =x cosx +sin x and f(0) = 2 | 2> - () = x cosx +sin x %3 (0) = 2 &,
X
then f(x) = ......... dl f(x) = ...
(A) x sin x (A) xsinx
(B) x cosx + sinx +2 (B) x cosx + sinx + 2
(C) x sinx +2 (C) xsinx +2
(D) x cosx +2 (D) xcosx +2
1
26. / ;3 dx =....... +C 26. / —— dx =...... +C
x2(x4+1)7% x2(x*+1)7
1 1 | 1 < 1
4 4 1 4 4 1
() <1+;> B) (x*+1)} ) <1+;> B) (x*+ 1)}
1 1 L 1
1 \7 1 \7 1 \* 1
© (1-L @ —(1+ L © (1-= ® —(1+—=
<4 x4 X X
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27. T
/ sin(x— %) dX = oo
0
(A) 2+ /2 (B) 2—+v2
(C) —2++2 (D) 0
28. !
/(e"3 +e M )(e*—eM)dx=.......
~1
A) £ —2¢ (B) ¢* —2¢
(C) 2(e* —e) (D) 0
29. z
The value of / (ax® + bx 4 ¢)dx depends on
-2
(A) value of b
(B) value of c
(C) value of a
(D) value ofaand b
30. _ U |
The area bounded by the curve y=x,x=e¢,y = —
X
and positive X-axis is .......... square units.
1
A) — B) 1
(A) 3 (B)
3 5
C) = D) =
© 5 (D) 5

31. The area of the region bounded by the curve

28.

29.

30.

31.

2 . .

/sm(x—z) dx = ...

0

(A) 2++/2 B) 2—+2
©) —2+4++2 D) o

2

(A) % ~2e (B) e? —2e

(C) 2(e* —¢) D) 0

2
/ (ax® + bx + c)dx ol (BUd ........ U LR D.
-2

(A) befl (5ud
(B) ¢l (5ud
(C) aeil (54d
(D) a¥a bl (5Ud

Asy=x x =6 y= - A Ul X8 g2
X
AULAL YRR &S ... Al AsH .

(A) (B) 1

5
(©) D) 3

dsy =2./X ol JU x =0 Wl x = 1 gRI

y =2y/X and lines x = 0 and x = 1 is...... sq. QLA YR QASN = ... NRRESE
units.
1 2 4 1 B) 2 4
A)= @B 2 (O1 D) = A - ®Z (¢ D) —
w3 ®F ©1 O3 A 3 T ©1 O3
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32.

33.

34,

35.

36.

ALLEN

The order and degree of differential equation
V/sin x (dx + dy) = ,/cos x(dx — dy) are

respectively ................

A) 1,2 B) 2,2

O 1,1 (D) 2, not obtained
The general solution of

tany - sec’x dx +tanx - sec’ydy = 0 is.........

tan x

=k
(A) tan y

(B) tan xtan y =k

(C) tan x+tan y =k

(D) tan x —tan y =k

The solution of the differential equation e** Y
dx + e dy =0 is.......

(A) e +eV=c¢ (B) e -e¥=c
(C) "V =¢ (D) None of these

f— 1 f—

Angle between 3(a x b) and E(E_ (a. b)a)
is

(A) 30° (B) 60°

(C) 90° (D) cos™! (%)

a, b, C are non-zero vectors and (a X b) x €

=3 ]l_)| |c|a. If the angle between the vectors b

32.

33.

34,

35.

36.

[dsq TR ERIE]
V/sinx (dx + dy) = ,/cosx (dx — dy) ol sa&l

WA YRHIQL 2efsH ... B,
(A) 1,2 (B) 2,2
©) 1,1 (D) 2, HA

tany - sec’x dx + tanx - sec’ydy = 0 ol CUlU$

(B) tanxtany =k
(C) tanx+tany =k

(D) tanx —tany =k

[Asa w152 2 =3 dx + 2V X gy = 0 <)
G34....... 8.

A) X+ =c (B) X_eY=¢

(C) XT3 =g (D) N5 Yl «i(&

3(@ x b) A %(E— (a.

)a) @il del wall

......... 3.

(A) 30° (B) 60°
(3

(©) 90° (D) cos™' (7

a, bc eddl UleAl B U @xb)xec
_ %fb”c‘\a. % b ¢ adel wail 6 Sl o)

and ¢ is 0 then sin 0 =..... sinf =.....
A) = B) M= _
(A) 3 (B) 3 (A) 3 (B) 3
- D) =V ~- - D) ==
(© 3 (D) 2Y © 3 ©) =
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37. Lines 1 —y_1:Z_2 and 37. W) x 1:y712272 |
1 2 3 2 3
x—1 y—-2 z-3 x—1 y-2 z-3 )
=T = g A S R
(A) Perpendicular (A) 4o
(B) Parallel (B) ™HidR
(C) Intersecting (C) Bes
(D) None of these (D) WsUQl«i&l
38. If the plane 3x — 4y — kz = 7 contains the line 38. ol UUdY 3x — 4y — kz = 7 Hi
l-x y+1 z l-x y+1 z
_ T _z = =2 — Zyddlelddlk=....
— 3 7 thenk = ...... — )
3 5 3 5
A) — = B) = i el
) -3 ®) A -3 ®) 3
©) 3 3 © 2 3
39. The equation of plane cutting equal intercepts 39. el U ULdL dHlel wd:uislel duie 1 W5
of length 1 unit on the co-ordinate axes is &1y ddl {Hd o] TR ERICT 8.
(A) x+y+z=0 (A) x+y+z=0
B) xty+z=1 B) x+y+z=1
©C) x+y-z=1 ©) x+y-z=1
Dy X Y 2z _ o2, Y, zZ_y
()a+a+a_1 e
40. If direction cosines of the normal of plane are | 40. | w(Mdulell (551U %,% WA % S\
T T T . . - . . . .
7 and 5 and its perpendicular distance vl ogai Ggl]_l[a{ggn qufuidR 2 €l qAdl
from origin is /2 then what will be the U] 4450 ... B.
equation of plane ?
byt = =2 Yyt —= =2
A X y -_—= A X y _—
(A) NG (A) V2
B) x+y+z=242 (B) x+y+z=22
) x+ty=2 ©) x+y=2
D) V2x+y++/2z2=2 (D) v2x+y++2z=2
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